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INSTRUCTIONS FOR THE FINANCIÈRES 

This box contains eleven rods; one fixed, on the left, is divided into compartments containing 
the fractions  

1/2, 1/3, 1/4, 1/6, 1/8, 1/9, 1/12, 

that we want to obtain, or the rates of interest that we want to calculate; the ten other 
movable rods bear numbers and drawings which correspond to numbers from 0 to 9 placed at 
the head of the ten rods; the four smaller figures placed at the bottom reproduce the upper 
figures of the four faces of each rod; thus the number 4567 placed at the bottom indicates that 
the rod has at the head on its four faces the numbers 4, 5, 6, 7. 

If we want to have the interest for a day of a sum of 52300 francs, we juxtapose five rulers to 
the right of the fixed ruler, so as to read the number 52300 at the top. 

For interest at 4 1/2 per 100, for example, we read successively, starting at the left at the top of 
the corresponding compartment, the number 0; following the line, we find on the second rod 
the number 6, then 5 on the third, 3 on the fourth and 7 on the fifth: we thus have the number 
06537 which we divide by a thousand, which makes for a day 

6 francs 537 thousandths. 

If one wants more decimal digits, one can add other rods with the number 0 at the top; we can 
also make up for it mentally by restoring by thought the absence of this rod. 

The compartments thus instantly give the interests for any sum for one day at rates of 12, 9, 6,  
4 1/2, 4 and 3 per 100, per year. For the rate of 5 per cent, write the interest of 4 per cent, then 
take from the 1/4 compartment a quarter of this interest which is added to the first. 

The last compartment instantly gives the twelfth of any sum. 

NOTE. – Before reading the results, it is good to tilt the box and lightly tap the lower part 
against the table, in order to align the rods on the lower edge. – If you want to operate on large 
numbers having more than ten digits, or more than four similar digits, it suffices to juxtapose 
two boxes, but only one fixed ruler is taken into account on the left, returning from the bottom 
to the top the second box on the right. 

Calculations of interest are further simplified by the multiplicatrices [Multiplication rods], as 
usage will show. 

 



 


